
 20dB bandwidth 
802.11a 

TX chain : 0

Frequency :  5580MHz

Right edge = 5570.59 + 19.42 = 5590.01 < 5600MHz

Frequency :  5680MHz

Left edge = 5670.54 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 0

Frequency :  5580MHz

Right edge = 5569.79 + 20.64 = 5590.43 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.41 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 1

Frequency :  5580MHz

Right edge = 5569.28 + 21.06 = 5590.34 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.48 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 2

Frequency :  5580MHz

Right edge = 5569.66 + 20.73 = 5590.39 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.65 >5650 MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 0

Frequency :  5550MHz

Right edge = 5530.28 + 39.29 = 5569.57 < 5600MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 1

Frequency :  5550MHz

Right edge = 5529.95 + 39.85 = 5569.8 < 5600MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 2

Frequency :  5550MHz

Right edge = 5529.34 + 40.84 = 5570.18 < 5600MHz
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